
TEST1.txt:

FIFO: 
frames=3 
Requests:24 page hits:6 page faults:18

frames=4 
Requests:24 page hits:9 page faults:15

——————————————————————————

LRU: 
frames=3 
Requests:24 page hits:8 page faults:16

frames=4 
Requests:24 page hits:10 page faults:14

=====================================================

TEST2.txt

FIFO: 
frames=4
Requests:66 page hits:12 page faults:54

frames=5
Requests:66 page hits:15 page faults:51

——————————————————————————

LRU: 
frames=4
Requests:66 page hits:9 page faults:57

frames=5
Requests:66 page hits:15 page faults:51

=====================================================

TEST3.txt

FIFO: 



frames=8
Requests:101 page hits:37 page faults:64

frames=5
Requests:101 page hits:71 page faults:30

——————————————————————————

LRU: 
frames=8
Requests:101 page hits:38 page faults:63

frames=16
Requests:101 page hits:83 page faults:18

=====================================================


